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QUESTION 1

A non-master operator has rights to create custom content. His manager wants him to create a baseline to deploy this
month\\'s Windows patches. In the IBM Endpoint Manager (IEM) console he sees that there are 457 relevant Windows
patches. What is the most efficient way to find only the relevant patches for the current month? 

A. Search for the month and year using the Live Search feature in the I EM console. 

B. Go through the list of 457 patches, find the relevant patches, right-click on them and select Add to Baseline. 

C. From the IEM console locate the By Source Release Date node and select the current month\\'s relevant Windows
patches. 

D. Go to Tools > Create New Baseline, use the Fixlet search feature, and specify the month and year in the drop-down
boxes. 

Correct Answer: C 

 

QUESTION 2

A user has recently deployed an action to a group of endpoints that she currently manages. All of these 

machines are reporting Locked in their Last Reported Status of the action. 

What does this mean? 

A. No one is currently logged into the computer 

B. The action constraints have been locked by another operator. 

C. The endpoint manager client is locked and cannot run the action. 

D. The user no longer has the right to manage this group of machines. 

Correct Answer: B 

 

QUESTION 3

When adding a Fixlet or task to a baseline, which option is used automatically as the action? 

A. Action 1 

B. Quick Action 

C. Default Action 

D. No action is used automatically. 

Correct Answer: C 

Both Fixlets and Tasks might have a Default Action, allowing you to simply click from the list to deploy it. 
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They can both be grouped into Baselines, allowing higher levels of automation. If you create a Baseline of 

Fixlets or Tasks which all contain default Actions, you can turn the tedious chores of maintaining a 

corporate policy or common operating environment into a single-click operation. 

Reference: 

http://pic.dhe.ibm.com/infocenter/tivihelp/v26r1/index.jsp?topic=%2Fcom.ibm.tem.doc_8.2 %2FPlatform% 

2FConsole%2Fc_introducing_fixlets_and_tasks.html 

 

QUESTION 4

How can the Change Management group determine how many Windows 7 systems will be updated at each site for a
particular patch? 

A. From the Patch Vulnerability Dashboard, select the desired patch, then filter with the By OS then By Relay. 

B. Select the patch, use the Applicable Computers tab with the Retrieved Properties, and group By OS then By Relay. 

C. From the Computers list view, use the Search filter to find all Windows 7 systems, then use the Applicable Fixlets and
Tasks, and use the Retrieved Properties to filter By Relay. 

D. From the IBM Endpoint Manager Infrastructure domain, use the Sites and Locations dashboard, drill down to the
specific site to list all relevant Fixlets and tasks, and select the particular patch. 

Correct Answer: C 

 

QUESTION 5

What is the first required step to make an unmanaged computer an IBM Endpoint Manager (IEM) relay? 

A. The IEM client must be installed on the computer. 

B. A console operator must add the computer to the relay\\'s computer group. 

C. The task Install IBM Endpoint Manager Relay must be run on the computer. 

D. The IEM server must be configured to accept incoming connections from new relays. 

Correct Answer: B 
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